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Directions:

A sentence has been given in Active/Passive voice. Out of the four alternatives suggested
below, select the one which best expresses the same sentence in Passive/Active voice.

Q1. The students were laughing at the old man .
a) The old man was being laughed at by the students.
b) The old man was laughed at by the students.

c) The old man was being laughed by the students.

d) The old man is laughing at the students.

Q2. Will Motin be helped by us ?
a) Will Motin help us ?

b) Shall we help Motin ?

c) Shall Motin be helped?

d) We shall helped Motin ?

Q3. | shall never forget your kindness.
a) Your kindness shall not be forgotten.

b) Your kindness is never forgotten.

c¢) Your kindness will never be forgotten.

d) Your kindness should never be forgotten.
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Q4. Trespassers shall be prosecuted.

a) The authorities might prosecute trespassers
b) The authorities can prosecute trespassers
c) The authorities shall prosecute trespassers.

d) The authorities may prosecute trespassers.
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Q5. He has been arrested and sent to jail.

a) The police arrested him and sent to jail.

b) The police have arrested him and the court has sent him to jail.
c) The police has arrested him and the court has sent him to jail.

d) None of these

Q6. Tell him to get out of our house.

a) He is told to get out of our house.

b) Let him be told to get out of our house.
c) He might be told to get out of our house.

d) He should be told that he may get out of our house.

Q7. He was being chased by the dogs.
a) The dogs are chasing him

b) The dogs chased him

c) The dogs chase him

d) The dogs were chasing him
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Q8. All of them know the results of the assembly elections.

a) The results of the assembly elections are being known to all of them.
b) The results of the assembly elections have been known to all of them.
c) The results of the assembly elections were known to all of them.

d) The results of the assembly elections are known to all of them.

Q9. He impresses his boss with his performance.
a) His boss is impressed by his performance

b) His performance impresses his boss

c) His boss is impressed at his performance

d) His boss is impressed in his performance

Q10. His subordinates accused him of various offences.

a) They accused him of various offences

b) It was accused by his subordinates that he had done various offences
c) His subordinates accused that he had done various offences

d) He was accused of various offences by his subordinates

Q11. The growing population problem will be discussed at
conference.They/Some people

a) discusses the growing population at the conference.
b) discussed the growing population al the conference.
c) will discuss the growing population problem at the conference.

d) discuss the growing population at the conference.

Q12. He will never forget it.

a) It will never be forgotten by him.

the



b) It can never be forgotten by him.
c) It should never be forgotten by him.

d) It may never be forgotten by him.
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Q13. Thick clouds have overcast the sky.
a) The sky has been overcast by thick clouds.
b) The sky overcast by thick clouds.

c) The sky is overcast by thick clouds,

d) The sky is being overcast by thick clouds.

Q14. The government has launched a massive tribal welfare programme in
Jharkhand.

a) A massive tribal welfare programme is launched by the government in Jharkhand.

b) A massive tribal welfare programme has been launched by the government in
Jharkhand.

c) Jharkhand government has launched a massive tribal' welfare programme.

d) The government in Jharkhand has launched a massive tribal welfare programme.

Q15. The news has surprised us.

a) We have surprised the news.

b) We have been surprised at the news.
c) We had been surprised at the news.

d) We have been surprised with the news.
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Answers to the above questions :

Q1. Answer: (a)

Q2. Answer: (b)

Will Motin be helped by us ?

(a) Will Motin help us ? (meaning has changed)
(b) Shall we help Motin ?(correct)

(c) Shall Motin be helped? (doer is missing)

(d) We shall helped Motin ? (incorrect structure)

Q3. Answer: (c)

| shall never forget your kindness.

(a) Your kindness shall not be forgotten.(Incorrect structure)
(b) Your kindness is never forgotten. (Tense has changed)
(c) Your kindness will never be forgotten. (Correct)

(d) Your kindness should never be forgotten.(Incorrect word)
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Q4. Answer: (c)

Q5. Answer: (b)

He has been arrested and sent to jail.

(a) The police arrested him and sent to jail. (Incorrect change of tense)

(b) The police have arrested him and the court has sent him to jail. (Correct)

(c) The police has arrested him and the court has sent him to jail. (Incorrect word used)

(d) None of these

Q6. Answer: (a)

Q7. Answer: (d)

Q8. Answer: (d)
All of them know the results of the assembly elections.

(a) The results of the assembly elections are being known to all of them. (Tense has
changed)

(b) The results of the assembly elections have been known to all of them. (Tense has
changed)

(c) The results of the assembly elections were known to all of them. (Tense has changed)

(d) The results of the assembly elections are known to all of them. (Correct)

Q9. Answer: (c)



Q10. Answer: (d)

Q11. Answer: (c)

The growing population problem will be discussed at the conference.They/Some people
(a) discusses the growing population at the conference. (Tense has changed)

(b) discussed the growing population al the conference. (Tense has changed)

(c) will discuss the growing population problem at the conference. (correct)

(d) discuss the growing population at the conference. (Tense has changed)

Q12. Answer: (a)

He will never forget it.

(a) 1t will never be forgotten by him. (Correct)

(b) It can never be forgotten by him. (Incorrect word/s)
(c) It should never be forgotten by him. (Incorrect word/s)

(d) It may never be forgotten by him. (Incorrect word/s)

Q13. Answer: (a)

Thick clouds have overcast the sky.

(a) The sky has been overcast by thick clouds. (Correct)

(b) The sky overcast by thick clouds. (Helping verb is missing)
(c) The sky is overcast by thick clouds. (Tense has changed)

(d) The sky is being overcast by thick clouds. (Tense has changed)

Q14. Answer: (b)



Q15. Answer: (b)

The news has surprised us.

(a) We have surprised the news. (Meaning of sentence changed)
(b) We have been surprised at the news. (Correct)

(c) We had been surprised at the news. (Tense has changed)

(d) We have been surprised with the news.(Incorrect preposition)
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